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LIFE SCIENCES - II

The relation between species richness and
area is described on a logarithmic scale
by equation [ Where S=species richness,
A=area, Z=slope of the line (Regression
coefficient), C=Y - intercept]

(A) logS=logC-7Z log A
(B) logS=Zlog A
(C) logS=logC+2Z log A

(D) logC=logS+2Z log A

A bacteriophage is a :

(A) Bacterium

(B)  Bacterium infecting virus
(C) Virus infecting bacterium

(D) Virus infecting viroid

How many daughter cells are formed
when a cell divides five (05) times
mitotically ?

(A) Thirty two (32)
(B) Sixteen (16)
(©) Sixty four (64)
(D) Eight (08)

et

welfa wgfs R &= (ufen) % o ¥ gy
I HHIH ZRT T AR T W st
o T &1 ([T s = v g, A=dF,
Z=" # g (W) T[T ),
C=Y - $z@e]

(A) logS=logC-2Z log A
(B) logS=Zlog A
(C) logS=logC+2Z log A

(D) logC=logS+2Z log A

A §
(A) SiEmg
(B) Sftamoy it feramy = wimfiyg et &
(C) foumy it <famoy =1 wmfim ey #
(D) fommy <t ferfas =t womfim Fes &

ﬁaaﬁ%ﬂﬁﬁmﬂh(ﬂmmw@ufﬁwﬁa
ﬁm%ﬁmﬁgﬁaﬂﬁmﬁaﬁmﬁf@wﬂ?

(A) =9 (32)
(B) HTE (16)

(C) s (64)
(D) 3T (08)
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‘Project Tiger’ is a wildlife conservation
project initiated in India in :

(A) 1942

(B) 1974

(€) 1971

(D) 1972

In humans haemophilia is caused by a
X-linked recessive allele, A heterozygous
female for this trait marries a normal male.
This pair has two daughters :

(a) Both daughters normal
(b) Both daughters haemophilic

()  One haemophilic and one normal

(A) (a) and ()
(B) (b) and (c)
© (a)
(D) (b)

Transport of ions actively takes

place ‘

(A) With concentration gradient and
not require ATP

(B) Against concentration gradient and
does not require ATP

(C) Against concentration gradient and
require ATP

(D) Against pressure gradient and
require ATP

4.

5..

VAT O oaEy
‘ISR 2R 9 e Tram o |
(A) 1942

(B) 1974

(©) 1971

(D) 1972

AE STiferall # X- feiare srammdt tefier & w0

AR B 2 | 55 Fordraen et At i

forom qrassit aifeen faedt amar gew § faam

W%WWWWﬁTW%ﬁ

] :

(a) = gfEr am Eid

(b) = YT sfunaa B el F

() T st = et qen god wn
Bt

(A) (a) 3R (c)

(B) (b) ¥k (o)

Q) (a)

(D) (b)

T T A F 9w

(A) wi=w Afet= % @y 799 ATP %
STEEIHA T Bt &

(B) wiEW Ufew= ¥ farg 3ud ATP
STEvIHT T Eet B

(©) wiEw Hfsu= & favg 398 ATP =1
v Bt &)

(D) =@ Afsu= ¥ fowg T@F ATP =7
HATTeAFA Bt ¥
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Knowing that Na*/K*ATPase is the
molecular basis of Na— K pump and that
the pump extrudes Na* ions and brings
in K' ions, which of the following cells/
tissues are likely to have the highest level
of Na*/K* ATPase activity in their
membranes ?

(A) Neurons

(B) Myocytes
(C) RBC

(D) Kidney cells

The modern evolutionary synthesis
gradually developed by the contributions
of : (a) Darwin, (b) Lamarck, (c) Mendel
and (d) Morgan in the sequence :

(4)  (B) > (d) = (@) > (o)
(B) (b) > (@~ () - (d)
© @->®)-@-(
(D) (D) > (@) = (b) - ()

Ranthambore National Park is situated
in:

(A) Rajasthan
(B) Uttar Pradesh
(©) Arunachal Pradesh

(D) Gujarat

7

8.

A€ I G % Na*/K*ATPase, Na—K
9 & I SR % U 99, Na* S
w1 frehfem owan & el K+ s 91 sie
e, = | o vt ve e
I A H Na*/K* ATPase %1 waffirs
39 T Rt & gt 7

(A) =
(B) wrirEz
(©) s,

(D) 5% Hifyrw

(a) =TfEH, (b) @M, (c) Aew o
(d) A% e I FHaR fofag amyfres
IR FETT F1 797 & .

(A) (b) = (d) - (a) - (c)

(B) (b) = (a) = (c) - (d)

€ @ - b)) -(©

(D) (&)= @) = (b) > (o)

(A) T §

(B) SWwwd
(C) srEvTe wew §
(D) T #
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10.  Which pathway synthesize the phenols ? 10, Hifa &1 Gveray fFq W 3 § 2 &2
(A) Shilcimic acid pathway (A) i tfas oy &

(B) Mevalonic acid pathway (B) Wit Tfae wer g

(C) CAM pathway (C) 9 (CAM) 919 &

(D) TCA pathway (D) TCATY

11. (a) Darwins idea for the origin of 11. (a) WeIREl &7 3fe W =y =1 =R

species became the most acceptable welifus w=ied #
one.

(b) It was based on the process of (b) TE ¥4 H IH9 gR wHiAT wpfaw
natural selection, originally =Y i 9iwar e o
advocated by Wallace.

(A) Both (a) and (b) are correct (A) (a) 3R (b) SFT uet &

(B) (a) is correct, but (b) is incorrect (B) (a) WEl &, 9 (b) Tova &

(C) (a) is incorrect, but (b) is correct (C) (a)7oa &, 9] (b) 9t &

(D) Both (a) and (b) are incorrect (D) (a) 91 (b) Sl Ter &

12.  During which one of the following stages ~ 12.  SRf¥SIa1% Y1 3Ea ¥ e avaeen & onm,
of Arabidopsis embryogenesis, cell Tl 4ot a H e e w
elongation throughout the embryonic axis FifeerEr # fawm 89 o &2
and further development of the cotyledon
occur ?

(A) Torpedo stage (A) ZRETEr sTEEen

(B) Heart stage (B) B awen

(C) Globular stage (C) TR sTaree

(D) Mature stage (D) Ta=wfaa smazen

SPACE FOR ROUGH WORK / T% =14 & ot wig
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13.

14.

In E.coli, rec A gene is involved in
recombination as well as repair and
DNA B gene is involved in unwinding of
DNA double strands during replication.
Which of the following statement is/are
correct about Rec A and DNA B ?

(a) Mutation in E.coli rec A gene is
lethal.

~(b)  E.coli with mutated DNA B gene

does not survive,

(c) DNA B after uncoiling DNA double

strands, prevents further
reannealing at the separated
strands.

(d) Rec A gene is involved in SOS
response and helps DNA repair.

The correct options are :
(A) (b) and (c)
(B) (a) and (b)
(€) (b) and (d)
(D) (@) and (¢)

The national heritage animal of India is :
(A) Lion

(B) Tiger

(C) Indian Rhinoceros

(D) Asiatic Elephant

13.

14.

E@icr 4, rec A < [T vs o
HH ST € 99 DNA B 519 wfaferdias
A DNA f5[ =21 ¥ smveer & 57 e
1 771§ § % 51 %9 Rec A 991 DNA B
% oo 4w 3/% 2

(@) EHicH rec A T H IfEdy TEE
AME |

(b) 3WfEfd DNA B 5 wen # et
Siifera 78 T

(c) DNA St 2= % srgee ¥ gvam
DNA B fadifsid @8 ® qmarfem
& el &1

(d) SOsHfafa§ Rec A7 wftnfa 2
® 9 DNA 757 § e &7 8

w faweq & ;|
(A) (b) ¥R (o)
(B) (a) &t (b)
(©) (b) 3 (q)

(D) (a) 3R (o)

ﬁmwtrqﬂwﬁmmﬁ%:
(A) faz

(B) =mH

(C) ey ey

(D) femr weft
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15. (a) For the development of haploid 15. (a) iz WEHl * fawM ¥ fou, wem &
plants, microspore mother cells SufEyd HIgshIEAR Ag HIREH (MMCO)
(MMC) present in the anther are w1 WA= frn s £
cultured.
(b)) MMCs are haploid in nature. (b) MMC, v&fa # ¥w=rze 89 &
Which of the following gives the correct fr=ferfes o =0 wft s €2
answer ?
(A) Both (a) and (b) are correct (A) (a) a9 (b) 3 W F
(B) (a) is correct but (b) is incorrect (B) (a) Wel & T (b) Tod &
(C) (a) is incorrect but (b) is correct (C) (a) T ¥ T (b) TE &
(D) Both (a) and (b) are incorrect (D) (a) e (b) ST 7ot &
16. Assertion (A) : Population density of  16. 3HYT (A) : Wg=s sl 31 FgET
indicator organisms shows degree of BT HgHY Wi HI IR |
pollution.
Reason (R) : Low BOD indicates less HNOT (R) : 7741 BOD, 51 ® &m afiiforas
organic waste in water. 3Tafere gvifan &
(A) Both (A) and (R) are true, but (R) is (A) (A) 31 (R) 3 W& ¥, WT (R), (A)
not the correct explanation of (A). 1 WEl TR0 T2
(B) Both (A) and (R) are true and (R) is (B) (A) @ (R) &1 W& ¥, 3 (R), (A) =1
the correct explanation of (A). e T ¥
(C) (A) is false, but (R) is true. (C) (A) e & W (R) 5t 7
(D) (A) is true, but (R) is false. (D) (A) W& 8 wig (R) To@ ¥
SPACE FOR ROUGH WORK / T% & & ford wme
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17.

18.

19,

(@8 In geologic past South America and
Africa were joined together.

(b) The Separation between South
America and Africa took place by
sinking of South Atlantic basin.

(A) Both (a) and (b) are correct
(B) (a)is correct, but (b) is incorrect
(C) (a)is incorrect, but (b) is correct

(D) Both (a) and (b) are incorrect

Which one of the fo]luwing 1S not an
extracellular matrix protein ?

(A) Vitronectin
(B) Laminin
(C) Cyclin

(D) Fibronectin

How many ATP are required for the

*.
conversion of one N, to 2 NH, during

biological nitrogen fixation ?
(A) 8 ATP

(B) 10 ATP

(C) 12 ATP

(D) 16 ATP

17.

18.

19.

(a) %ﬁmﬂaﬁmmﬁﬁwnﬁm
I TF |1y e T o

(b) ﬁwaﬁﬁm@m%mﬁw
maf%q;ﬁvﬁ%;%fﬂﬁ%mﬁm
el

(A)  (a) 70 (b) 3 =t §
(B)  (a) 51, ¥ (b) et &
(©)  (a) T, g (b) wE 2
(D)  (a) 791 (b) S o7 &

ﬁnﬁf@aﬁﬁﬁwwiﬁﬁmﬁﬁ;ﬂ
WA Y

(C) wufem |
(D) HErfREs

ﬁﬁﬁ?@mﬁﬂﬂ-ﬂw%aﬂquzﬁ
2NH:ﬁwﬁaﬁ@amﬁﬂ;1%mﬁm}m
H ATP 91 savaseen 1 &2

(A) 8 ATP

(B) 10 ATP

(©) 12 ATP

(D) 16 ATP
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20. The plants which are completing theirlife- 20, YIRY St 991 F1er § 2791 He-95 T =
cycle in wet season are called as : & d Feema ¥
(A) Drought escape (A) = g
(B) Drought tolerance (B) Y=k Hfgwy
(C) Drought resistance (C) =k wfcrredt
(D) Drought Deficit (D) T= s9M™
21. Assertion (A) : In eukaryotes 21. A9 (A) FhiEe | Tined g3
interogators are associated with sensors, 4 Hag Em ¥
Reason (R) : The producer genes are FNUT (R) : TSR 70 dA=292 39 ¥ 5t
output controls of regulation mechanism. T fafy 1 fefm = 8
(A) Both (A) and (R) are true, and (R) (A) (A) 3R (R) 3 wE ¥ iR (R), (A) F
is correct explanation of (A). eI AT i
(B) Both (A) and (R) are true but (R) is (B) (A) 3 (R) 3T &t ¥, 9% (R), (A)
not the correct explanation of (A). 1 el =T T ¢
(C) (A) is true, but (R) is false. (C) (A)T& & T (R) Tera £
(D) (A) is false, but (R) is true. (D) (A) 7@ B, Wi (R) Tet &)
22.  Which of the following is not included ~ 22. Frefefiag § @ = F-fag e §
under in-situ conservation ? wftnfer =& &2
(A) Tiger reserves (A) M9 e &
(B) National parks (B) U= =M
(€) Sanctuaries (C) HAvgad
(D) Botanical gardens (D) Sifgs s=m
SPACE FOR ROUGH WORK / 1% &1 % ford smme
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23. What are the sequence of steps of  23.

reactions in polymerase reactions of the
following events ?

(a) DNA annealing
(b) DNA denaturation
(c) DNA purification
(A) @) - ®) - (©
B @ - b - (@)
©) () > () - (@)

(D) (@)= () - (d)

24.  For continuation of protein synthesis in 24,

bacteria, ribosomes need to be released
from mRNA as well as to dissociate into
subunits. These processes do not occur
spontaneously, They need the following
possible conditions :

Which of the following sets of statement
is correct ?

(a) RRF and EFG aid in this process

(b)  An intrinsic activity of ribosomes
and an uncharged tRNA are
required

(€) IF - 1 promotes dissociation of
ribosomes

(d) IF-3andIF-1promotes dissociation
of ribosomes

(A) (a) and (d)

(B) (a) and (b)

(©) (a) and ()

(D) (b) and (d)

Frtferfiaa firmati % wiferivn sfifimati 4
sAffmae =t ol & @ w9 # 2

(a) DNA 3o
(b) DNA fagfas
(c) DNA 9fgsm

(A) (@) =|®) - (o)
(B) (a)—(b) - (@)
©Q @) =) - ()
D) @ - (- @

Sﬁmﬂﬁ%mﬁwaﬁmmmﬁ

% ol mRNA & Teerdrs =1 qe T

ST U SUgEEAl F faufeg # smvee ¥

¥ WHR F i e se 96 ae

T SRAA ¥ for Frretfrfias Gueri feofit

T ITEvFH B &

Frafefad womi % o § § $9-m1 5o

we &2

(a) ¥\ 91 & RRF 3t EFG werm w13
g

(b) A w5 safe wfaraty o
HEAR t(RNA F1 stavasar gt &

(c) IF -1, TeEMrg & famea =1 giw
1 ieare

(d) IF-3 3K IF - 1, Teairdig ¥ fames
w1 9ferar 1 dremes

(A) (a) 3R ()
(B) (a) 3R (b)
©) (a) 3 (q)
(D) (b) 3 (d)

SPACE FOR ROUGH WORK / T% @Td % ferr S
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25. In E.coli a Hir strain has following map  25. E#ifcrH Hfr fagdt frer wefifa amfas 5
a, b, cand d are genes : T € @ a, b, ¢ 31T d 7 ¥
F - plasmid
Whatwi[lbeorderofgenetransfer? ?ﬁqwmmurmmamm?
(A) (@ -(®)-(c)-(d) (A) (a)-(b) - (c) - (d)
(B) (d)-()-®)-(a) (B) @-(9)-(®)-(a)
© @-®-(d)-( € @-®-(@-(©
D) (@)-(©)-(@) - ®) D) (@)-(c)- () - (b)
26.  60S and 20S mRNA after reaching in  26. 60S A1 20S mRNA, FifvFE=] e
cytoplasm attaches itself to : I = i fmR e w2
(A) Endoplasmic reticulum (A) sHagesdr sferam
(B)  30S ribosome (B) 305 UzaErEm
(C) 508 ribosome (C) 508 WEaEE™
(D) None of these (D) =98 § =¥ T
SPACE FOR ROUGH WORK / T% &1 % ford v
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27. (a) The embryo sac of Allium is  27. (a) T ® Yo R fefasmrs & =g
regarded as bisporic. EECEi s
(b) The formation of embryo sac of (b) eram & v w1 ff frhfeg
Allium takes place by participation T | o @ i F wewf |
of two nuclei derived from meiosis. B
(A) Both (a) and (b) are correct. (A) (a) 3R (b) 3wt &)
(B) (a) is correct, but (b) is incorrect. (B) (a) W& &, o (b) o £
(©) (a) is incorrect, but (b) is correct. (©) (a) T B, foreg (b) w1 %1
(D) Both (a) and (b) are incorrect. (D) (a) &R (b) S Tora ¥
28.  Which of the following gives the correct 28, Frefefen % @ s oma i Fromers
human disease causal microbe match for Y] 1 WE A # 2
each of them ? '
Human disease Causal HEE T U
microorganism qasia
(a) Typhus (i)  Streptococcus (a) eEHH () BVewwg
pyogenes ST
(b) Lyme disease (i) Helicobacter (b) =mEm T (i) EfeTlaer
pylori TG
(c) Chronic gastritis (iii) Borrelia (c) e wawhy (iti) =RfeEn
burgdorferi TSGR
(d) Scarlet fever  (iv) Rickettsia (d) Wiz s (iv) ferefaan
prowazekii VIEISEA]
Code : e
@@ () (© (@@ (@ () ( (@@
(A) () @) (@v) (i) (A) O @) Gv) (@)
B O @@ @) @) (B) () @) () (wv)
© @v) @) @) @ © @) @) @) @
D) @ () @) (@) D) @ @ @ @)
SPACE FOR ROUGH WORK / % @4 & fort wirg
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29. Match Table - I and Table - II. 29. TferaRT - 1 %1 Afetent - 11 % Wy gifem
Fifem |
Table - Table - II ArfeTerT - 1 AfeTenT - 11
(a) Citric acid cycle (i) C, Plant (a) Tafes ape = (i C,d=y
(b) Kranz anatomy (i) Pyruvate (b) =t fa=dem (i) uEEIT
(c) Chemiosmotic (iii) Oxidative () FHeiEfes Fufem (i) sedERE
coupling phosphory- e IR
hypothesis lation
Code : L %
(@ (b) (o (@) (b) ()
(A) () (i) (i) (A) @ | () ()
(B) @) () (i) (B) (i) () (i)
(©) G) (@) (@) (© @) (@) (0
(D) @) @) (i) (D) () (@) (i)
30. Arrange the following events in proper  30. ZEAYH F TNT F WA wI e wed
order of it; happening during interferance 1 3f=q A €
of translation.
(a) Double stranded DNA cut down to (a) = ¥=T DNA F THW 2
smaller pieces by Dicer BR-BI2 THS § w21 TN
(b) Conversion of Double stranded (b) TRl TEE DNA F wFS wEE
DNA to single stranded DNA DNA ¥ ufiafda s
(c) Interaction of DNA with RISC (c) RISC % WY DNA #1 37a:fa
(d) Cleavage of mRNA (d) mRNA %7 fagro
(e) Complimentary pairing of iRNA () mRNA & M9 iRNA #1 TF wret
with mRNA EEIE)
(A) @) = (B)= (©- (d) - (o) (A) @) = (b)= (©)— (d) - (e)
(B) (@) = ()= (b)> () = (d) (B) (a) = (9= ()= (e) — (d)
(©) () = ()= ©- () — (d) ©) @ - [b)=(©)- () > (d)
(D) (b)) = (@)= () (e) > (d) (D) (®) = @— (©- (e) > (d)
SPACE FOR ROUGH WORK / T% %14 & fod wme
Set - A 9210/TFU-LS/ELG-II



31.

32.

Sir J.C. Bose developed a very sensitive
instrument, which was able to magnify
growth of plant upto 10,000 times, This
apparatus can record growth to an extent
of fraction of minutes. The name of the
instrument is :

(A) Seismograph

(B) Crescograph

(C) Cardiograph

(D) Oxigraph

A student wrote following statements
regarding comparison of Restriction
Fragment Length Polymorphism (RFLP),
Random Amplified Polymorphic DMA
(RAPD), Amplified Fragment Length
Polymorphism (AFLP) and Simple
Sequence Repeats (SSRs) techniques used
for generating molecular markers in
plants :
(a) Al these techniques can be used for
fingerprinting,
(b) Detection of allelic variation can be
achieved only by RFLP and SSRs,

(c)  Use of radioisotopes is required in
RFLP and RAPD only,

(d) Polymerase chain reaction is
required for all the techniques.

Which one of the following combination
of above statements is correct ?

(A) (a) and (b)

(B) (b) and (c)

(© (¢) and (d)

(D) (d) and (a)

31.

32.

W AH. 99 ¥ wF A deavia 73 =
faa:mamshm#qﬁsaﬁmmow
T STafeid FT i ama v | 77 3TE
mﬁrm#ﬁmﬁrﬁaﬁmﬁmq@ﬁ
SR T TRl 2, TH ITF 1 AN L7

(A) e (=)
(B) FEHE
(C) wiféamms
(D) &Hifermrs

Tt o= 3, Ygwm i sy vt
(AR TF.TA. G, ), =0 Trelimre Siagfts
DMA (3R.uH 2L ), treirre S oy
RUSEIREC Qe R RS Fee g e
ey (woww.emes. ) fafit 53 qo T F
Y foran| 37 fafudi 1 s i o
sifere fameshl % S % ot foam st &

(@) =1 @t faferli = S fmefiten 4
fefa < wapar B

(b) Uedtfa® wfads & fasires =1 gar
FIT | HAR.UE. AW, a9
UH.TH.RUH. 9 g1 s1 g1 2

() F90 ARTRTAW. 3R 0w o
# featomemtzint & suzin =1
AEYIHAT Bt )

(d) = wf fafiell & fo oifesm saen
SAfulka =1 stevasm 26§

ST FAT 1 FrAfatEa ¥ & Sy o

wEE?

(A) (a) 3R (b)

(B) (b) 3 (o)

© (o) 2R (d)

(D) (d) ¥R (a)

SPACE FOR ROUGH WORK / T% %4 & fordl wmg
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33.  Which of the following is mismatch ? 33. &M | ghfo W 32
() Epstein-Barr (i)  Burkitt's (@) THEE-mR () afbew fawem
virus lymphoma EIE RS}
(b) HTLVI (i) Adult T-cell (b) HTLVI (i) TEw T-F=
leukemia S eate
(c) Herpes Virus (iii) Kaposi (c) & Ty (iii) SHTITE HRTET
Ssarcoma
(d) HIV (iv) Retinoblastoma (d) HIV (iv) MeAremmem
Choose the correct option : e fameq = :
(A) (a) - (i) and (b) - (ii) (A) . (a) - @) 78 (b) - (i)
(B)  (0) - (iii) and (d) - (iv) (B) (<) - (iii) T (d) - (iv)
(©)  (b) - (ii) and (c) - (i) (©)  (b) - (i) T2 (c) - (i)
(D) (d)-(@v) (D) (d) - (iv)
34. The formation of acetyl coenzyme A from 34, T sfufiran % wRommeEy TEEEE I
pyruvic acid is the result of its : ¥ Twiifest wIoEn A w1 Fmfor g &2
(A) Reduction (A) 9gT7
(B) Oxidative decarboxylation (B) =Ivert fosmEifaaetiaor
(C) Dephosphorylation (C) TawreneTHT
(D) Dehydration (D) Frefefierzor
35. The national aquatic animal of India is :  35. 9RH = T o7& gt §
(A) Irrawaddy dolphin (A) TUErEl ifewH
(B) Porpoise (B) itz
(C) Blue whale Q) ==w
(D) River dolphin (D) f=r zffews
SPACE FOR ROUGH WORK / 7% &1 & ford wg
Set - A 16 9210/TFU-LS/ELG-II



36.

Dietary

Carbohydrate Dietary proteins

}

Amino acids
—

INSULIN Acetyl COA ——» —+Ketone
- l bodies

Fatty Acid

|
(7]

Observe above flow chart and detect
which metabolic process is this ?

(A) Fatty acid Oxidation
(B) Triglycerol Synthesis
(C) Ketone body Oxidation
(D) Cholesterol Synthesis

Glucose

37.  Which one of the following best defines

an Oncogene ?

(A) An Oncogene never codes for a cell
cycle protein, which promotes cell
proliferation.

(B) Oncogenes are always involved in
inherited forms of cancer.

(C) An Oncogene codes for a protein
that prevents a cell from undergoing
apoptosis.

(D) An Oncogene is a dominantly
expressed mutated gene that
renders a cell advantageous
towards survival.

36.

37.

Ellinip i

l
e il ofre

- —— —
Aft \/'

7 CoA —+— --+ﬁiﬁarﬁ

(7]

mﬂmmmﬁwamm&aaﬂm%
e o0 U #1 Aemifeas i &0
(A) T wHre sifede

(B) ewfiemrier gvemo

(C) =TF gt stwiwm

(D) =erieT Syeryor

7 5 4 B it =1 3o0 =7 & wfenfue

FE?

(A) T =t Hifrn foreor g ey
a@mwm#mw?
TR T T |

(B) SIS, F * Imfuenf =6 §
TN Affem ey §)

(C) SIS 36 97 ¥ fory e e &
s ot wifee # wireife @3 g
TAMIE ||

(D) SIS gt 3R = sefafia
S & S et Fifire = i &
fom ey == &)

SPACE FOR ROUGH WORK / T% &7 3% forr sz
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e g §

38.  Ozone pollution is indicated by leaves of 38. SIS USHT i
plants in the form of - T S 8
(A) Intercostal bronzing (A) T=T=REa wifsn
(B) Minute chlorotic dos (B) BR-BR Ferifes i
(C)  Tip and margins browning (C) e v femmy 9T
(D) Watery film on epidermis (D) =ftremd ot we-firey
39.  Which of the following is the mismatch 39, Frefafes 4 g ¥R & wesiifei 3 i
between the names of the following & W Fr gifer T &2
parasites of human body ?
(A)  Ascaris lumbricoides - Roundworm (A) Tm=hifig THHITEY - TR iy
(B)  Enterobius vermicularis - Hookworm (B) w=Hifagm e - HFTHY
(O Trichuris trichinrg - Whipworm ©)  T=FRT arsfagmy - HIMHY
(D)  Loa loa - Eyeworm (D)  csyr e - Ay
40. Match Table - T with Table - 1. 40. TfeTET - 1 1 Arfey - 11 % 919 wifer
Hifeg |
Table - 1 Table - 11 aferenT - 1 AT - 11
(@)  Monosporic (0 Allium (a) THfa=IE YOTRIT (i) oferam
embryo sac
(b) - Bisporic embryo sac (i) Polygonum (b)  TEfersiTorsT yompiy (i) ey
(c) Tetrasporic - 8 (iii)  Peperomia (c) -8 (i)  IRIfry
nucleate embryo sac Hhew P e
(d) Tetrasporic - 16 (iv) Adoxa (d) =gfesfammm - 16 (iv) Tery
nucleate embryo sac TFEH YO
Code : L TAF
@ () () (9 @ k) © (@
A O @ @) @ @A) 6 @ v g
B O ) (@) G B O @ @) @
© @ @ @ g © @ 6 ) @
@) @ () (@) @) D) @) @) @) @
SPACE FOR ROUGH WORK / 1% %18 & ford sz
Set - A 18 9210/TFU-LS/ELG-11




41.

42,

43.

(@)

(b)

(©)

(d)

The formation of gametophyte directly
from sporophyte without undergoing
melnsis1s :

(4)
(B)
€
(D)

Parthenogenesis
Apogamy
Apomixis

Apospory

Eukaryotic chromosomes are made up
of :

(&)
(B)
(©
(D)

DNA + Pectin
RNA + DNA
DNA + Histones
DNA only

Match the Group - I with those of
Group - IL

Group - 1 Group - II

Isotype (i) V, domain

switching

Clonal Energy (i) Non-responsive
to self antigen

Class Il MHC (i) Non-responsive
Ty cells

Self-tolerance  (iv) P,-Microglobulin

Code :

(@ (b) () (d)

@A) @ O @

B O @) @) @

© () @ @)

D) (v) @) @) @)

41.

42,

43.

(a)

(b)

(©)

(d)

ferifag =or & wae 7 3 gu Swm-safig
TeaeT: RIS | gfafda a9 &1 wfwa
T 71 FEd & ?

(A) SATF

(B) SA9H™HA

(C) &FETI™

(D) SISt
PRI e o §

(A) Frwaw + s
(B) SRTATY, +ELTAL
(C) T +E=EH
(D) A ELUAT,

HEE - 1 1 |YE - 11 9 gafea wife

|E - 1
agEenEy fa=a (i)

|gE - 11
Vi S
A TS Q-tf=sA F fom
SR

E R RIER NI

Ty ¥€8

B, ATk e e

(ii)
FemE [ MHC (i)

= -Hegal
&

(iv)

(©)
(i)
(iv)
(iv)
()

(d)
(iv)
(1)
)
(@

(A)
(B)
(©)
(D)

(ii)
(iv)

SPACE FOR ROUGH WORK / T% &4 & ford e
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44,

45.

Regarding ‘microtubule assembly and
disassembly during cell division, which
will be the most appropriate answer ?

(A) Once formed, kinetochore
microtubule polymerize at the plus
ends throughout mitosis.

(B) Once formed, kinetochore
microtubules depolymerize at the
plus ends throughout mitosis.

(C) Kinetochore microtubules
Polymerize at their minys ends upto
cytokinesis, at which point they
depolymerize,

(D) Kinetochore microtubules
Polymerize at their plus ends upto
anaphase, at which point they
begin to depolymerize,

Cell cycle is a highly regulated sequential
Process that involves following events,

(a) G, Phase

(b) G, Phase

(¢) S Phase

(d) M Phase

The sequence of these events are
(A) @, ®), (), (@)

(B) (@), (b), (@), ()

©  ®), (), @), @

D) ®), (o), (d), (a)

44.

45.

ﬁmﬁﬂm%m &1 TehF0
T fowes & gy & waifyw 3fag wmr
FHME?

(A) TF ax 573 3 AT FIEATiF T

%ﬁﬁquaauiufajtﬁmm%a‘?m
mmﬁmwam%:

B) = ax g93 T FEATIFY
Www&m%?ﬂm
mﬁﬂwa@nﬁaaﬁﬁm:

(C) Hﬂﬁﬁﬁq‘lﬁaﬂwmmfaﬁ
mm@mﬁfanﬂa;aﬁwéigmﬁa
T B

(D) Wﬁnmﬁﬁ%ﬂgﬂmmﬁﬁ
waﬁvﬁaﬁﬁiaﬁéfaﬁ?ﬁm
ﬁﬂmﬁmmﬁ*&r

mammfwﬁwﬁa%m%

W%Wﬂrﬁqﬂ%l

(@ G,=m

) G, =m

(c) S=m

(d) Mo

SIS woEy .

(4) (), (b), (0), (d)
(B) (). (b), (@), (¢)
©  ®) ©, @), @
D) ®). (©), (@), (a)

SPACE FOR ROUGH WORK / 7% &1 & o s
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46. Match the following from Group - I with ~ 46. ¥Yg - I %1 ¥9g - [I ¥ ey .
Group - 11 :
Group - 1 Group - II |He -1 |vE - 11
(@) Auditory placode (i) Changing (a) 94 THS (i) IR SR H
cell shape EIEERE]
(b) External gills (i) Mesoderm (b) = fiew (i) HeE=H
(c) Microfilaments (i) Protrusions  (c) ¥&A g (iif) fered #1 IR
of epidermis
(d) Notochord (iv) Lateral line  (d) 7RIS (iv) TvETE 6
sence organ
(e) Colouration in (v) Cooperation (e) rRIHTH (v) I R e
[nsects of genes
() Hormonal control  (vi) Mammary (Hh TEFmFEEE (vi) T 3w ufa =
of development gland IEREL! IEEAL:]
development
in mice
Code : He :
(@ (b) () (d) (e) (f) (@ ((b) () (d) (e) (f)
(A) (v) @) (v) @@ @ W) (A) @v) @) (v) @) @ (v
(B) (v) @) @) @@ (v) @) (B) Gv) () () @@ (v) (v
(©) @) @ @ @) (v) (W) © @) @ @ &) (V) (i)
D) @) @) @ &) @) @ (D) @) (@) @ @v) (vi) (v)
47. Edward’s syndrome is caused due to : 47. UZHE fagm w1 FRW R
(A) Trisomy 21 (A) TREH 21
(B) Trisomy 13 (B) ZwEMl 13
(C) Trisomy 18 (C) ZrEE 18
(D) Trisomy 20 (D) TREME 20
SPACE FOR ROUGH WORK / 7% &Td & fodl se
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48.  Sugar moves in phloem vessels a5 48.  TIVETE Ao A vy 9 =9 & yarfeq 2y
22
(A) Cellulose (A)  Hegeirg
(B)  Glucose (B) T
(C) Starch C) =
(D) Sucrose (D) g=m
49. Which one of the following Palindromic 49. DNA ¥ fr7 § @ fipg faeindt amer
base sequences in DNA can be easily cut st ooy Wioafi TSI % BRT 30%
at about the middle by some particyar R A - A FTI S T 2
restriction enzyme ?
(A) 5'-CGTTCG .3 (A) 5'-CGTTCG - 3
3' - CCAAGC .- 5 3'- CCAAGC - 5'
(B) 5'-GAATTC- 3 (B)  5'-GAATTC - 3
3'-CTTAAG~5' 3'- CTTAAG - 5
© 5-cracrg.s (© 5-CTACIG. 3
3'- GTGCAA - 5' 3'- GTGCAA - 5
(D) 5-CACGTA -3 (D) 5-CAQGTA .3
3'- GCATAC - 5 3' - GCATAC - 5
50. The ‘Natura selection’ is best defined as 50.  WrFfaw gy =5y SE ¥ w9 H gag =
occurring when the environmeng causes : T F uRfir fape S & S fegoy -
(A)  differential Success in reproduction (A) TTodRT § e Twem foreret &
(B) differential mortality (B) oy Jyaray
(©)  assortive mating Q)  aviers A
(D) a reduced gene poo] (D) &9%a 7 g
SPACE FOR ROUGH WORK / T T % ford s
Set - A QZIWTFU-I.S{EI.G-II




51.

52.

The author of the book ‘Zoonomia’ is :
(A) de Vries

(B) Lamarck

(C) E. Darwin

(D) C.Lyell

As cancer progresses, several genome
rearrangements including translocation,
deletion, duplications etc., occur. If these
rearrangements of chromosomes and
DNA contents are to be measured, which
are the combinations of techniques will
be most suitable ?

(@) RAPD
(b)  Flow cytometry
(c) Multicolour FISH
(d) GISH

(A) (a) and (b)

(B) (b)and (c)

(©) () and (d)

(D) (a) and (d)

51.

52.

S g & o €
(A) < =Y
(B) @R
(€ % =ifeém

(D) . @Ed

w0 S FE W wiea 2 s € ert
yfafefustn seafe S foraeti +i 3fa 2t
T 1 3fg MM 2R DNA favaasgsti &t 5
FTIEA! il HIY T AF 1l AR F1FE
e gaifues 39drt grm 2

(a) IMUTLEL

(b) WaTE HEEHI

(c) =gt mafeai

(d) e

(A) (a) 3 (b)

(B) (b) 3 (c)

(©) (o) 3 (d)

(D) (a) 3R (d)

SPACE FOR ROUGH WORK / T% @14 & fora =g
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53.  Three double stranded DNA molecules  53. i fz-t T e 7
have same number of nucleotides, but T e T g =791 = sy
differ in their form : g:
(@)  B-form of DNA (@) DNA F} B - smeR 3% vy
(b) A - form of DNA (b) DNA#t A - sTaR % w5y
(€)  Z- form of DNA (©) DNA ! Z - s 5t oy
Arrange these three different forms in TS Y AR o i T g (B q2)Tq
increasing order of length ( small —; large) @9 fafvm= Temsii =5y ST Fifsm |
Codé : Fe
A @-p)-( (A) @) -(b)- (o)
(B)  (b)-(a) - (¢) (B) (b)-(a)- ()
© ©-@®)-@) © ©)-®)-@)
(D) (®)-(c) - (a) D) ®)-(c) - (a)
4. Palaeonmlogy is the study of : 54. Sfasiiets fram s g2
(A) Fossil plants (A) ieTet g
(B)  Fossil animals (B) itaTes yroft
(C)  Buried organisms and rocks (©) S H 2w S ge Sy
(D) Both (A) and (B) (D) (A) donr (B) i
SPACE FOR ROUGH WORK / T & & o sy
 Bekoa 24 9210/TFU-LS/ELG-11



55.

Match the components of ‘lac operon” of  55.

E.coli given under Column - I with their
functions listed in Column - II. Choose

the answer with correct combination of
alphabets of the two columns.

Column - 1
(Components of lac
operon)

(a)

Structural gene

(b) Operator gene

() Promoter gene

(d) Regulator gene

Code :
(a)
(i)
(i)

(A)
(B)
(€)

D) @) )

()

(iii)

(iv)

v)

(d)
()
(iv)
(i)
(i)

Column - II

(Function)

Binding site
for repressor
protein
Codes for
repressor
protein

Induced
lactose
transport
from the
medium
Code for
enzyme
proteins
Binding
site for
RNA

polymerase

WY - 14 o3 T g7 &% i’ F

el Tl T - 11 H fau 73 59% =] & @y
gifem #ife wd <Hl @il F tewed F
& HaeH § I gfAw )
WY -1 w10
( oTE A & " ) (=4 )
(a) €EAE® WA (i)  EIEAT
e &
A T
(b) SR=EmER S (i) TSR
WA & Fe
(c) SEEF H (i) weEH | UfE
AT I
qftees
(d) Frams = (iv) T=IEH WA
& F2
(v) RNA vifermt
EIRELE RS ]
& :
@@ () (© (@
(A) @) @v) (v) (@
(B) (@) (@) () (iv)
© v Gv) @) @
D) ) @ (@ ()

SPACE FOR ROUGH WORK / % & & fod s
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56. The gene(s) used for developing insect 5 Sfew Fefifrafan T & IvEm @ wte
resistance using genetic engineering tools Tl & fagm H 3o S/ Sftg &3
is/are :

(@)  Crystal protein (crygene) () s WM ()

(b)  Cowpea tripsine inhibitor gene (b) FTE frefT Hew o

(€)  Soyabean tripsine inhibitor gene (©)  HrmeT foagq Hew S
(d) Bar gene (d) =R

(A)  (a) only correct (A) aw (a) WEt

(B) (a) and (d) correct (B) (a) 3R (d) vt

(© () and (c) correct (©)  (b) 3R () wet

(D) (@), (b) and (c) correct (D) (@), ) ¥R (c) 7t

57.  Western blotting is 4 technique employed 57, ‘gt ST U Gt ¥, s TEEH ¥
for the identification of : T2 3w & wte sy g:

(A) mRNA (A) mRNA
(B) DNA fragment (B) DNA @®
(C) tRNA (C) tRNA
(D) Protein (D) W

58. The order of events, 58. ?@m%mmﬁmmiﬂaﬁ
(@) Ecesis, (a) amEm,

(b) Aggregation, and (b)  AFETM Fop

(c) Migration, for the invasion of (€ wamq

Species is :
(A) @ = (©) - ) (4) (@) - () - (b)
B) © - ®) - (@ B) (- () ()
© ® - (- (@ © ® - (- @
D) () - @) - p) D) (©) - @) - b
SPACE FOR ROUGH WORK / 7% %1 % forgy R
Set - A 9210/TFU-LS/ELG-I1



59.

60.

Which one of the following is regarded  59.

(A)
(B)
(©)

(D)

The complex responses to different types 60.

- as a ‘paleoherb’ ?

Hamamelidales
Ranunculales
Trochodendrales

Piperales

of DNA damage in both prokaryotes and
eukaryotes fall into two main categories.
Which combination is correct ?

(a)

(b)

()

(d)
(A)
(B)
©

(D)

Damage removal

glycosylase

by DNA
Damage reversal by DNA methyl
transferase

Damage by pass by DNA helicase
Damage by pass by primase

(a) and (b)

() and ()

(a) and (d)

(b) and (c)

frfafaa o frae! ' dfaded’ e s 8 ?

(A) ThESES
(B) TSt
(C) RIS
(D) WS

Wk R Py 2 | €L, wfq
q gafm fafi= vR & afmg sEiwan
< wg@ 4forEl § fawifea gu &)
frafafaa 4 & F9-1 g w8 22

(a) TLUA.U TEmEeifaeE gr &fa &1
"

(b) ZErwAw wfee AR gm afa &
Eiv |

(c) Eruau ¥eFa g afa =k urg o
(d) WEHH g &fd =g 9E

(A) (a) 3 (b)
(B) () * (9)
©) (a) R (d)

(D) (b) ¥R (¢)

SPACE FOR ROUGH WORK / % %14 & o sy
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61. In bacteria, which lacks the cell nucleus,  61. SfemY food =iy ¥ 79 A T 39% F91
the cell cycle is divided into =F B A3t § fawfem faan
periods. T R |
(A) A, B,CandD (A) A, B,C 3D &=
(B) B,Cand D (B) B,C3RD =M
(C) E,F,GandH (C) EF G3RH®E
(D) None of above (D) S9ed § #E ot 7

62. Assertion (A) : Viral DNA cannot be  62. atRFYgT (A) : DNA T=4t T=izn % &
attacked by DNA digesting enzymes. AT DNA W AR 76 fofan s g
Reason (R) : More unusual bases are T (R) : 9% DNA § sfus sramrg
present in viral DNA, R Sueerd & &

(A)  Both (A) and (R) are true and (R) is (A) (A) 7= (R) T w1 € &R (R), (A)
correct explanation of (A). ! WEl =

(B)  Both (A) and (R) are true but (R) is (B) (A) @ (R) 21 ¥ § w0 (R), (A)
not the correct explanation of (A). 1 HEl e E

(C) (A) is true but (R) is false. (©) (A) 9 ? T (R) 39 £

(D) (A) is false but (R) is true. (D) (A) 579 & T (R) 51 ¥

SPACE FOR ROUGH WORK / T% & % foryt e
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63.

64.

The challenges faced by aminoacyl tRNA  63.

synthetases in selecting the correct amino
acid is more daunting than its recognition
of the appropriate tRNA. Incase of amino
acids with similar structures like valine
and isoleucine, this challenge is met by
the enzyme possibly through its :

(a) catalytic pocket

(b) editing pocket

(c) anticodon loop

(d) acceptor arm

Choose the correct set from the following :
(A) () and (b)

(B) (a) and (¢)

(€) (b)and (d)

(D) (b) and (c)

Separation of proteins in two-dimensional 64.

gel electrophoresis is dependent on :
(A) Mass of the protein alone
(B) Charge of the protein alone

(C) Mass and hydrophobicity of the
protein

(D) Charge and mass of the protein

HEl THMT 377 & =999 § SWHTEHE (RNA

HYeTa & gR1 FAfaal 1 9 FE, $HE

TE RNA F1 UggH &34 & agan aAfus

Frecafed =01 =1en € | 5o Ud EEegEd

1 q@ FHF HEEAT a1l SHAT 37 & 31

H 39 A H OGEAT THE TEH &
% gm e s #

(a) T Gl

(b) O GRS

(c) T=rHIEA T

(d) Tl e

=1 & W@ 92 %1 =597 Fiau

(A) (a) 3R (b)

(B) (a) 3 (o)

(©) (b) 3R (d)

(D) (b) 3R (c)

5 forita St seagrmifom # W &1 gueA
e S B

(A) WHE WEH & e
(B) HE WEH % |
(C) WrREH % zemA AR sadifd

(D) WIEHE % =S 3 2298

SPACE FOR ROUGH WORK / 1% &d & foa w7
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65.  Assume two conditions of crossing over 65, @ feufiEl = e Fifsg Tl Hifvr
present and absent in different cells faurm & wwg fafu= Hifowen 5
during cell division, in different cells the S-fafra &1 w2 @ @ ot § sik Twl
two alleles of a gene will segregate T 59 S-fafa #t gz 7= 2 (A
during : ﬁf‘ﬂ?mﬂﬂaﬂﬁﬁﬁnﬂ%ﬁm

ECIECEIu
(a) Prophase I () SIS - 1% ERA
(b) Prophase II (b) WIS - 1% 2R
(c) Anaphase I (c) TATH - % &R
(d) Anaphase II (d) TATHS - 11 % 2R
(A) (a) and (c) correct. (A) (a) 3R (c) W&t ¥
(B) (a) and (b) correct. (B) (a) 3R (b) WEt ¥
(C) (c) and (d) correct. (C) (o) 3R (d) wet ¥
(D) (b) and (d) correct. (D) (b) 3R (d) T&t ¥

66. The structural and functional unit of 66, HIEE HF= 1 WA 6 Frfews T
muscle contraction is the : 2
(A) Myosin (A) wrEIfEe
(B) Sarcomere (B) HT=RIHiaR
(€)  Myofibril (C) wEfRfaa
(D) A and I Bands (D) Adaids

67.  DNA fragments can be separated by the ~ 67. DNA ¥ @i %) firg firfiy B 3767 T =
technique called : Ha 2 ?

(A) Western blotting technique (A) =% wlfen qas
(B) Northern blotting technique (B) A =T g
(C) Southern blotting technique (C) W& =dAfen aais
(D) Eastern blotting technique (D) T=A =difen dote
SPACE FOR ROUGH WORK / T% &4 % fort v
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68. Two dimensional electrophoresis 68, g faria sogrmifos & wive € :
k _irwolvEs:
. (A) .. SDS-PAGE in 1% dimension and [EF (A) vead o™ H SDS-PAGE 3 g&t
o . in 2nd dimension am # [EF
(B) IEFin 1t dimension and PFGE in 2" (B) weel wrAm H IEF iR g& o H
dimension PFGE
(C) IEF in 1t dimension and SDS-PAGE (C) weel @M H IEF iR g &M H
in 2" dimension SDS-PAGE
(D) IEF in 1%t dimension and TLC in 2" (D) Teet 3T H [EF 3t gEt st |
dimension TLC
69. Match Table - I and Table - IL 69. anferent - I s aTfeTeRT - 11 i gHfe i |
Table - I Table - II arferaRt - 1 arferant - 11
(@) Cdk Pathway (i) Replication (a) CdkHr (i) wfaFfa
(b) Ilﬁs.poptosis (i) Cell cycle (b) TErEfEm (il) IR = M
regulation
() DNA (i) DNA (c) FlvAwu Wfemd (ii) WEEEReET F
polymerase fragmentation AT T 3R
and degradation e
of cytoskeleton
Code : T
(a (®) (9 (@ (b)) (o
(A) @ (@) (i) (A) ® () ()
(B) (i) (D). (i) (B) (i) () (i)
(C) () @) @) (© () @ @)
D) @@ @ ([ (D) @) @) (i)
 SPACE FOR ROUGH WORK / 7% &rd & fod s
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70. Match the following in human genetics.  70. AHE sTEfeER § e w8 gafe wife
(a) Trisomy 21 (i) Edward (a) ZEEH 21 (i) vuzaEE foem
syndrome
(b) Trisomy 18 (i) Down's (b) ZrEE 18 (i) =P fom
syndrome
(©) Deletion of (iii) Retinoblastoma  (c) FERM & (iii) YfedrEEmTEm
middle part of TN FH
chromosome 13 o 13
(d) A deletionof (iv) Cri-du-chat (d) THHEEH (iv) Cri-du-chat
chromosome 5 syndrome w1 el 5 fagm
Code : Fe
(@ (b) (o) (d) (a) () (© (d
(A) @) (@) @) (iv) (A) @) @) (i) (iv)
B) O G () (v) B) @ () (@) (iv)
© @) (@) @ G (C) {-iv) (i) (@) (i)
(D) @) @) (iv) () (D) @) () (@v) @)
71. During geological time scale, fishers 5. T Faferl 1 famm i zén
evolved successfully during : e ¥ for e § g
(A) Cambrian period (A) ¥t =@
(B) Devonian period (B) fedritaT =
(C) Permian period (©) ufifem w1
(D) Pleistocene period (D) wierE Fme
SPACE FOR ROUGH WORK / T% &Td % ferd wnrg
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72.

79,

74.

The primary constituent of a cell is :
(A) Carbon

(B) Water

(C) Cytoplasm

(D) Gas Vacuole

(a) Normally the transgenes are
introduced in nuclear genome, but
for higher expression of transgene,
chloroplast transformation can be
done.

(b) The chloroplast has multiple copies
of circular DNA.

Select the correct answer :

(A) Both (a) and (b) are correct

(B) (a) is correct, but (b) is incorrect

(C) (a) is incorrect, but (b) is correct

(D) Both (a) and (b) are incorrect

(a) Cyclins are the catalytic subunits,
while CDKs are the regulatory
subunits of a heterodimer overall
regulating cell cycle.

(b) When activated by a bound cyclin,
CDKs perform a
biochemical
phosphorylation.

(A) Both (a) and (b) are correct.

common
called

reaction

(B) (a) is correct, but (b) is incorrect.
(C) (a) is incorrect, but (b) is correct.
(D) Both (a) and (b) are incorrect.

72.

73.

74.

F Ul T NUE GF T
(A) T

(B) @

(C) WA

(D) T8 IHE

(a) HEE: FfaerESiAm H 2 gon
T S ¥, TG ZES 6 Sedat
sfv=afa & fau FoRreme w9
o <1 Twa 2

(b) FARTERE H FARRK DNA i wgioft
o et €

uﬁw@f:

(A) (a) T (b) T W€

(B) (o) W&l B, 0 (b) T @

(©)  (a) TR &, TG (b) W &

(D) (a) % (b) 2 TTora &

(a) UEFAH, SEEE SU-THEAT € SEH
CDKs, T& sfeUSE™ & &+
I9-TehTEEl & S Ul T | 9 T H
feifora ea &1 :

(b) & fHHt smEy g WHA BH W
giEfead 991 CDKs U HMEHE
-t sfafEn = g w5
§ o wIopeyE Ha S & |

(A) (a) 3R (b) i W& T

(B) (a) Wl ¥, W (b) T ¥

(C) (a) Tod &, 9T (b) WE €1

(D) (a) 3R (b) EFi 7ToTd § |

SPACE FOR ROUGH WORK / T% & & g wmg
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75. Following are few chemical reactions E: 75. 4 F0 THEE afufead & mh # .

(a) Adenosine diphosphate (ADP) = () URHAIfET sEWITHZ (ADP) =
AMP + ® AMP + @

(b) Adenosine Triphosphate (ATP) = (b) WEBAET IEHITHZ (ATP) —
ADP + ® ADP + ®

(c) Phosphoenolpyruvate (PEP) = () WITHIZATAUEEAT (PEP) —
pyruvate + (P TR + (D)

Arrange these reactions as per increasing AG Fl % 70 § wEa BU 77 Afufsraii

order of AG. %I SafeE Hifoau )

(A) (@), (b). (© (A) (), (), (©)

(B) (). (b), () (B) (c). (b), (a)

(C) ), (), (c) (9. ), @) (©

(D) (b) (), (a) (D) (b). (<), (a)

76. Read the following statements and choose 76. 11 i %1 ufen iR wd fawey g
the correct options.

(a) Increase in melanized moths after (a) W2 faza 7 siiwifreTm F 9
industrialization in Great Britain is HeAHEsS qieg o fs 41 ST Wi
a proof for natural selection. T 1 TH Hed 21

(b) When more individuals of a (b) mma;aﬁqaﬂﬁﬁ;m@m
population acquire a mean AU HH H Wi T od F A 3@
character wvalue, it is called G FE T T
disruption.

(¢) Changes in allelic frequency in‘a (c) fFt Seen ¥ tefifos smgfa o
population will lead to Hardy - ftads, erel-famart e s &9
Weinberg equilibrium. 3 3T FHOT |

(d) Genetic drift changes the existing (d)y «fass 9 § st srqgror & sum
gene or allelic frequency in future AR S qYE tetfes IRara
generation, gftafdd gar &1

(A) (b) alone is correct. (A) e (b) Wt &

(B) (d) alone is correct. (B) = (d) WEl B

(C) (a) and (d) are correct. Q) (a) & (d) T8t ¥

(D) (a) and (c) are correct. (D) (a) @& (c) Wt &1

SPACE FOR ROUGH WORK / T% &rd % fert sg
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77. In an ordered tetrad analysis, if the two
genes are linked then :

78.

79,

(A)

(b)

The parental ditype will be more
than non-parental ditype.

The parental ditype will be equal to
the non-parental ditype.

The parental ditype, tetratype and
non-parental ditype will be equal.

The parental ditype will be equal to
the tetratype.

AFLP is a good technique for DNA
finger-printing.

In a single run on a denaturing
PAGE gel of ~50 cm, it will
generate ~ 1-2 bands.

Select the correct option :

(A)
(B)
(©)
(D)

(a)

®)

Both (a) and (b) are correct
(a) is correct, but (b) is incorrect
(a) is incorrect, but (b) is correct

Both (a) and (b) are incorrect

In a shotgun DNA sequencing
approach the relative position of
cloned fragment is known.

Even in complex higher eukaryotes,
the assembly of such sequenced

fragments is very easy.

Select the correct option :

(A)
(B)
(©)
(D)

Both (a) and (b) are correct

(a) is correct, but (b) is incorrect
(a) is incorrect, but (b) is correct
Both (a) and (b) are incorrect

77. et wim wgee fawemm 8 7 8 9

st feiee &1, 4

(A) T wrar-fian fawerr =1 e widr-faa
fewer % aiftrss &

(B) v wren-foren fgwapm i wren-foen fgwannt
T E |

(C) wra-faan fEeh, =Iq=F WHR a1 X
Hren-foran fawerm ave 2

(D) re-fuan fewehr, Sqer JR & sTe
gl

78. (a) DNA frm-fifén & ferw AFLP &
= fafy 2

(b) ~ 50 cm % fafaston PAGE 9i&1 W
THa W ~ 1-2 §= 1 I Fom

w& ooy 9 -

(A) (a) T (b) 2 WEl &
(B) (a) WEl & g (b) e &
(C) (a) o & W (b) T ®
(D) (a) W (b) S e &

79. (a) Y& DNASFTHHAY T4 H Fil-s
WA= 1 wraferss et S g

(b) @ % f us sifeat =at gFfEE
#, T8 YHR W SFHiaa @i w7
hTe 9gd 9 # |

ﬂﬁﬁﬁq‘ﬁ:

(A) (a) 71 (b) I TA T

(B) (a) W&l §, W (b) T ®

(©) (a) 7o 3, TG (b) W B

(D) (a) T (b) S TTeTd §

SPACE FOR ROUGH WORK / T% & & fo& wg
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80.

81.

(@) In Pinus the nutritive tissue for the
embryo is triploid.

(b)  The triploid endosperm is formed
by the fusion between one male
nucleus and one antipodal.

(A) Both (a) and (b) are correct.
(B) (a) is correct, but (b) is incorrect.
(C) (a) is incorrect, but (b) is correct.

(D) Both (a) and (b) are incorrect.

Read the given statements and select the
correct option from those given below :

Statement - 1 : Amino acids are capable
of forming long polymeric peptide chain.

Statement - 2 : Amino acids are dipolar
zwitter ions,

(A) Both statements are true and
statement - 2 is the correct
explanation of statement - 1.

(B) Both statements are true but
statement - 2 is not the correct
explanation of statement - 1.

(C) Statement - 1 is true but

statement - 2 is false.

(D) Both statements are false.

80.

81.

(a) WETEH Y % fore e Sk fomfor
AAE|

(b) P yordre =1 fimfor v =1 i
R Tw UENEE ¥ uen giET 9

AR
(A)  (a) 3T (b) 3 & &
(B)  (a) &1 B, g (b) e B
(© (a) e & fofg (b) Wt ¥
(D) (a) 3 (b) FF TTora &

few g el 1 ufgy qun ftfefian famredi
ffi’rnﬁﬁmwgﬁﬁ:

HYT - 1: FHE T T o= s
UREE SEe o TE £

HYT - 2 : ITHA! 37 fgyet soter a9 2
g

(A) = H97 °eg & it waw - 2,
HYUT - 1 It TE AT § |

(B) FT ®ed § ¥ g U - 2,
HYT - 1 FH T R TE E

(C) YT -19F T g Y7 - 2 9
.

(D) EFT e e

SPACE FOR ROUGH WORK / T% &T4 % fed wrig
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82.

The given figure shows three velocity-

substrate concentration curves for an
enzyme reaction. What do the curves X,
Y and Z depict respectively ?

Initial velocity V, —

(A)

(B)

(©)

(D)

Substrate concentration (S) —

X - normal enzyme reaction
Y - competitive inhibitor
Z - non-competitive inhibitor

X - enzyme with an allosteric
modulator added

Y - normal enzyme activity

- Z - competitive inhibitor

X - enzyme with an allosteric
stimulator

Y - competitive inhibition added
Z - normal enzyme reaction
X - normal enzyme reaction

Y - non-competitive inhibitor added

Z - allosteric inhibitor added

82. 7= Tu= w=gm sifufwan & fow &= 9m1-
Haeel & HigU &1 9% SO E 1T X, Y
3R Z wu: s i E2

mEmMV, —

(A) X-9MR Tea Aty
Y - Wfaesicrs sses
Z - T-yfreuterr sades
(B) X - udrefiw Higerer difsm w=izy

Y - T USAEY T
7 - Sfaeruicas anas
(C) X - Terfis S aren Ty

Y - sfaeasiens steme difed u=ey
Z - | Uesirey sfufsn
(D) X -HmE U=EH HAfufwar

Y - IR-yfamaufers sages O
Ty

7 - Terfie SAaHes Afed T=mEn

SPACE FOR ROUGH WORK / 7% &1 & fod =g
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83. Match Table - I and Table - I 83. WRUM - I %) |qwoft - 11 & fiyemen .

Table - | Table - I [RUF - 1 Wt - 11

(@) Rhynia (i)  Jurassic (a) A (i) ufas

(b)  Medullosa (i) Devonian (b) Fgear (i) EEEE

() Williamsonia  (iii) Carboniferous (©) fEfrmsfm (i) s
Code : Fe :

@ (b) (o) @ () (o
(A) @ @) () (A) ) ) (i)
B) @) @) (i) B) (@) @) )
© ) @ @) ©  Gi) @) ()
(D) @) @) ) D) @) (i) ()

84. Food webs based on the concept who eats 84. #N forms @m & W s wm e it
whom, emphasizing the feeding WIeF Heieli 77 5 < 8, T Feam g7
relationships are called :

(A) Functional food webs (A) s @ 5o
(B) Connectedness webs (B) HANTHE we

(C)  Energy flow food webs (C) =i vare @ e
(D) Source webs (D) ®r& 5

85. In contrast with plant cell, the most 85, WY Hifermmsil & fawda i BT §

distinctive feature of cell division in FIf favrem %1 fafers SAfireremr ¥ .

animal cells is :

(a) Pattern of chromosome movement. (a) TOEE T F1 o

(b)  Ubiquitin - dependent pathway for (b) WEH e % fom RIEIECCiES
protein degradation. STacifad gy |

(A) Both (a) and (b) are correct. (A) (a) 3R (b) 3 7 &

(B)  (a) correct but, (b) incorrect. (B) (a) ®él ®, W (b) Temm 2

(C)  (b) correct but, (a) incorrect. (©)  (b) 5El B, W (a) 7o 2

(D) Both (a) and (b) are incorrect. (D) (a) #R (b) M o F

SPACE FOR ROUGH WORK / 1% %14 % forg e
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86.

(a)
(b)
(c)

(d)

87.

Match Table - I with Table - II. 86.
Table - I Table - II

Ligule ()  Filicopsida (a)
Amphigastria (i) Gymnosperms (b)
Indusium (iii) Lycopsida (c)
Integument (iv) Hepaticopsida (d)
Code :

@ () (o) (d
(A) @) @ @) (v
(B) () () Gv) (i)
© v @ @) (i)
(D) (D) (v) () (i)

The branch of science dealing with the 87.

improvement of human race is called as :
(A) Genealogy

(B) Eugenics

(C) Euphenics

(D) Euthenics

AR - [ &1 WHOTt - 11 9 gaferm Hifew |
ot - 1 TR - 11
St (i) Treieifoger
etz (i) fo=irem
i (iii) TIEHIEST
TRIHE (iv) Eafesifue
Fe

@ (b) (o) (d)

C(A) (@) @ @ v

(B) (i) (i) | (iv) (i)
© (v) @ @) ()

(D) @) @v) @) ()

fomm #1 = wman s vE wifs % guw @

. wfﬁa%;ﬁam%
L r(A)  STETETST

(B). - Fsifa
(C) Fha
(D) ERIEES

SPACE FOR ROUGH WORK / 7% &7 & forer e
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88. Malignant tumor derived from connective  88. % Sl # Sferd Aot ZpR Feem
tissue is called : ®:
(A) Carcinoma (A) rEiEmE
(B) Sarcoma (B) ®mRM
(C) Blastoma (C) ==
(D) Lymphoma (D) femmm

89. Match the role of following chemicals/  89. DNA fodisa # frafeafiaa warri /i =4

compounds in DNA isolation. !l gafaa Hifag )

(@ EDTA (i) Cationic detergent (@) EDTA () 5# sifusds
(separation of (s =1 §
polysaccharides YifeHFEel #
during ferdrsm)
purification)

(b) Phenol (i) Removing protein (b) fErE (i) DNA wfaeel | 44 gem
from DNA samples

(c) SDS (i) Chelation of () SDSs (iii) Te=arst sl =1 Fowm
divalentious

(d) CTAB  (iv) Detergent to remove (d) CTAB  (iv) DNA ¥9g W s
lipid and DNA fafysi =1 ger =
associated protein Afysts

Code : %e:

@ () (o (4 @@ () (o (4
(A) () @) (v) (i) (A) (i) @) (v) (i)
(B) @) @) @) (@) (B) (i) (i) (@v) (i)
© @) @v) @ (i) € @) Gv) @ (i)
D) O @) ) (i) @) ) @) (@) (v

SPACE FOR ROUGH WORK / 7% &% & ford wmg
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90.

91.

Ecological dominants are :

(a) the species that have a major
controlling influence.

(b) the species that live in community.

(c) the that affect the
environment of all other species.

species

Code :

(A) (a), (b) and (c)
(B) (a)and ()
(€) (a) and (b)
(D) (b) and (c)

Arrange in order the following events of
the earth’s history that took place through
time in the geologic past :

(a) Formation of Tethys Basin
(b)  Position of India along the equator
() Opening-up of North Atlantic Basin
(d) Rise of Himalayas

(e) Breaking up of Pangaea

(A) (¢) = (b)= ()= (d) - (a)

B) (@ = () (d)- (0) = (o)

(©) (&) = (d)= ©)— (a) - (b)

D) (&)= @ (- (b) = (d)

90.

31

aritfeerfas yamE €

(a) wF wenta foed faam =1 g qum
Tl

(b) U wenfa S HYEE H T #

() = = |t wefad F gt
i F3a £

(A) (@), (b) 3 (q)
(B) (a) ¥ (c)
©) (a) 37 (b)
(D) (b) 3 ()

YeEt % ehtel § 9 e e o i
A FHifg

(a) feorm groff & famfo

(b) YHYA L@l % T YRA i feafy
(c) U srzaifes Sl %1 foaeam 2
(d) TeureTs v =1 39

(e) TR w1 Tz

(A) (&) = (b)= (€)= (d) - (a)

(B) (@) = (b)= (d)= () = (e)

©) (@ = (A= (9 () = (b)

(D) (&) = (a)= ()= (b) — (d)

SPACE FOR ROUGH WORK / T% T4 & ferr e
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92.  During development of which one of the 92. T 9 9 g sifiifren % fomm & faweim

following organisms, bilateral meroblastic =T faersst aran sy 3 2

cleavage is found ?

(A) Bird (A) &t

(B) Mollusc (B) e

(C) Snake (C) =g

(D) Fish (D) Heet

93. Which of the following statements are 93. 1 ¥ F & o wey 87

true ? _ i

(@) The process of neurogenesis begins (@) e & dva o § dafh-amedt
by the flattening and thickening of T i w5 HierE wed uy
neuro-ectodermal cells in the mﬁa‘vﬁw%m#ﬁwwﬁ
ventral region of gastrula, Y Bt €1 !

(b) - Liver develops in the form of a (b) BT § EWhgett F wY
hollow diverticulum from the H 75a 1 farwm @ o 2
alimentary canal.

() The atrium is derived from () e & wleom it syeaf a1
endoderm.

(d) Blastocoel prevents the cell beneath (d) HREET 37 B W T T8
it from interacting prematurely H A0 € o Iww A E2
with the cells above it. T T & R = @t

Tl e

(€) Mesenchymal cells which form the (e) TosFTEH Hifvrrd < ElLEaE |
blood vessels are called as %1 forafor et & =y UISTeeTE e
angioblasts, AL

(f) The division of blastomere is () =RIERR %1 favem w@as LE]
independent and asynchronous. SqeaHIer g g

Choose the correct answer - T I G

(A) (a) and (c) (A) (a) 3R (o)

(B) (b)and () (B) (b) 3 (o) |

© (b)), (d) and () © ) (@) (@ 3 (@

(D) (®), (d) and () (D)  (b), (d) & (f)

SPACE FOR ROUGH WORK / 7% &4 % fort W
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94.

95.

Photorespiration is a characteristic feature
of :

(A) C, plants
(B) G, plants
(C) CAM plants

(D) Xerophytic plants

Out of the following options of the
functions of MADS box-containing genes
in plants are correct ?

(a) Floral organ identity

(b) Development of root, seed and
flower

(c) Development of stomata
(d) Development of chromatin
(A) (a) and (b)

(B) (b)and (c)

(C) () and (d)

(D) (d) and (a)

94.

95.

WeRTY Yoo ferget sifienarfores fadar &2

(A) C,9rH
(B) C,drw
(C) CAM U=y

(D) Y= Hfewy Y

MADS =g faud wrey siF & werl 9
Haftr frafafas $9 4 faees a@ &2

(a) godg I F wEE

(b) W, " R o w5 A

() TEF 1 fowrE
(d) wwrHfe = fawm
(A) (a) 3 (b)
(B) (b) 3 (c)
(© (o) ¥ (q)

(D) (d) 3R (a)
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96. During replication of DNA uncoiling of 96. e’im.q. Eﬁ?ﬁa Y % M 3"\!11_71’.11_
DNA spiral, separation of two strand and T B AHE e w1, 9 W ) v
arrangement of four deoxyribonucleoside FIA ST v 2T w5 s 9n
triphosphate on the side of each strand, festisiEagFiane sewehe =
and polymerisation of the newly arranged SIaf FTH] A1 Wew Tee T FHwE
deoxyribonucleoside to form new DNA 9 7o € wAu, P F fmi &d, Fafafia
strand at the side of each template strand eSS FT TEHAHI L
occurs. This is the method known as w1 B B, 79 fafy 1 = wwy #2
(A) Conservative mode of DNA (A) SruA.u wfasfs &1 duam fafy
replication

(B) Semiconservative mode of DNA (B) EiuA.u, whmfa @ srdf-wvarm fafy
replication

(C) Disparative mode of DNA (C) ZFrwaw wfagfs = gumem fafy
replication

(D) Duplication of DNA (D) ELEA.u, =1 gfafafrw

97.  Swine flu is caused due to : 97. TEET % B9 W H0 E

(A) H;N, (A) H,;N,
(B) H,N, (B) H,N,
(©) H)N, (© HN,
(D) H;N, (D) H;N,
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98.

e

The exogenous agents that cause
developmental anomalies are known as :

(A) Carcinogens

(B) Mutagens

(C) Chromogens

(D) Teratogens

Administration of estrogen to adult male
rats results in :

(A) Decreased testosterone production.

(B) Decreased Luteinizing hormone
and testosterone production.

(C) Increased estrogen secretion in the
testis.

(D) None of the above.

98.

99,

T T TR e A

(A) TEREIA §1 9 & el E

(B) wyfemefem e ud SRR s
BT

(C) =f=m ¥ s =1 wE 97 5 2

(D) ST i ot 7 |
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100. The RFLP pattern observed for two pure ~ 100. & s sH=m e (P, i P,) % fere
parental lines (P, and P,) and their F, 9Hafad RFLP WeW 3t 9% F, Gafd =
progeny is represented below. Further, = wefla famar mn & P, W ¥ e I
the P, plant had red flowers while the P, saf® P, ¥ ¥90 g 91 F, Hafd &1 P, @
had white flowers. The F, progeny was WY HERa FE T afora: @ i
backcrossed to P,. The result obtained, vad ol At Hatq # 5o #3799 RELP
showing the number of progeny with red &g ® e awelt & R fran
and white flowers and their RFLP
patterns is also represented below :

i B f the cross | Fy @ P, % wer ww

= | P _PZ‘ | Fy be.ﬁé;[tandc]r’zﬁ ol R o

| Phenotype | Red | White | Red Red | White s JUE LIRS e w3

mEP | —— ‘ a5 RFLP 5 G I (==

| pattern | | 'wreq

| ‘ | .

Number of nglmy > 45 5 i 45 5 R v, 45 | 5 | 45 -| 5
Which one of the following conclusions frefefaa 2w fremd wdt 32

made is correct ?

(A) The DNA marker and the gene for (A) T9 W T DNA foesi #1 gt
the flower colour are 10cm apart, 10 cm 1
(B) The marker and the gene for the (B) T o ud el 1 20 5 em
flower colour are 5cm apart. 2
(C) The marker and the phenotype are (C) fo=®l vd wawa™ =qas v @
independently assorting, iR e ¥ |
(D) The marker and the gene for the (D) T & fo=e & 7 uw ga & sem
colour segregate from one another. TAE
-00o0- -00o0-
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I SET - A
I TR HTN T AT : 2 AfermT 39 : 200
Time for marking answers : 2 Hours {Maximum Marks : 200
e :

1. 58 W -gfer & 100 a1 w99 £ - e w2 ot w3 Tl w7 T o arfrare ¥
2. ¥ F IW, & T OMR iz (erae-3ftz) W sifra Fifem

3. RN WediwA T faar s

4. Tl oft 0 3 Serpdies  w dae wd e Wi o e At 3

5. omm—aﬁz(mm~aﬂz}wmmﬁwt¥ﬁaﬁﬁmamﬂ#aﬁ/aﬁﬁaﬁwmmm
mmmmmwmmwmwamu

Note :

1. There are 100 objective type questions in this booklet. All questions are compulsory and
carry 2 marks each.

2. Indicate your answers on the OMR Answer-Sheet provided.
3. No negative marking will be done.
4. Use of any type of calculator or log table and mobile phone is prohibited.

5.  While using OMR Answer-sheet care should be taken so that the Answer-sheet does not get
torn or spoiled due to folds and wrinkles.
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